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Choose the correctly spelt word.
(1) Defalcation

(2) Difaleation

(3) Defalcasion

(4) Defalcatation
fafafad & qoue =g &
(1)

(2) ~nAT

(3) =

(4) 99

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.
A. Once on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :
1) C.A.D.B
(2) B.A.D.C
3) B.C.A.D
4) C.D.B.A

2 9 Py QU L & TP DY (Assertion A) B T T fATEd 8 I GIRT IUP BRI (Reason R) & FU T:
UPYT A : SPRIT T4 WA ST & |

FRUIR : A T I 3 | B U3 3918 Bl ©. STy SpRid sk g i ol Wi 781 8 |
SRIG HY & 3HTalle 0, - [ U [dhedi o 9 Fad IUgad Sk &1 98- Hifl |

(1) A SRR A TR T AR R AT TE AR &

2) A 3RR T8 €. AR, A B! g U el ©

3) AGEI g AR WEI eI ©

(4) AFSITRIg AT R TSI B

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]

Sl. No.3
QBID:1555023

Choose the correct sentence.
(1) We went to the station to see them off.
(2) We went to the station to see them out.




(3) We went to the station to goodbye them.
(4) We went to the station to say them goodbye.

F €1 FyF feU 0 & UF SfiHYA (Assertion A) F w9 H Rif@d & @ g9 39% RO (Reason R) & &0 #:

ity A T oes gvaieiv g |

FRU R : 70 ARG Weg & | AT Tt oeRid Weg AT TS T

TUdla HYA & e d, 19 feu o fowedl # 9 w6d Iugsd 9Tk S 904 g
(1) A JRR EF w81 2 SRR, A ¥ 981 aarem 2

(2) A 3RR eHl 961 & 3fFT R, A o 98 sgrem 87 @

(3) AT 2 AfPTR T8 TE 7

(4) A WE =gl ¢ afa R 981 8

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]

Sl. No.4
QBID:1555024

Match List I with List II

List I (Wood) List IT (Synonym}
A pervasive I [filter
B [steve II.  widespread
C. |potent III.  metting
D. jmesh IV, |powerful

Choose the correct answer from the options given below :
(1) A-IIL B-I C-IV. D-III
(2) A-IV, B-II, C-II, D-I
(3) A-IV, B-1, C-III, D-II
(4) A-IL B-L, C-II, DIV

il 1% 1Y Gl 11 D1 BT iforg

A 1 T I
A [PHR Ze T I [l e
B. [@aqdci sl 11 [HRT sTaid o S
C. [Pelg Gorl 111 [frel & SN R A
D. [@eiell 381 BHI IV, [Hg Fd 9

+d U U [ds el § 9 9gl 3R &1 9094 Bl
(1) A-II, B-IIL, C-IV, D-I
(2) A-IIL B-IV, C-I, D-II
(3) A-IV, B-L, C-IL. D-III
(4) A-L B-IL C-IIL. D-IV

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]

Sl. No.5
QBID:1555025




Which two of the following are in correct form ?
A, Let's go to the cinema, shall we ?

B. Let's go to the cinema. do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema, shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D only

(4) B and C only

o feragd s oS £ 2

(1) e Uy

(2) SRumdE U1g

(3) T A

(4) ¥gH =g

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.6
QBID:1555026

Choose the option which is opposite in meaning to the following word:

Castigate

(1) Commend

(2) Reprimand

(3) Flagellated

(4) Commotion

w1 & T SH-a a9 R 7

(1) &= oo dam e € |

(2) Tepa # off siaHd 9 A8 8 |

(3) TEOES HHRIT Y G Fgaa= § &% & ol & |
(4) =< veria gfedn Sansd #1 agaT s & Y T F R W ST TS © |
1[Option ID=19285]

2[Option ID=19286]

3[Option ID=19287]
4[Option ID=19288]

Sl. No.7
QBID:1555027

Identify the correct indirect narration for the following sentence :

"Who now." they had asked. "Will listen to our troubles and protect us from the crocodiles" ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the crocodiles.




fore wame &1 SR opfa Sf=m Ue v 2, S9 Ooey 9HN FEd § | ST SeTeo 9y |

A. g

B. w&omgnl

C. Taie®

D. Sy

E. 3o
¥ fau T fawedt & § S99 SUgE IR 1 904 S
(1) ¥ A, B.D
(2) F@@B.C.D
3) @ C. A B
(4) ¥@@ D.E. C
1[Option ID=19289]
2[Option ID=19290]

3[Option ID=19291]
4[Option ID=19292]

SlI. No.8
QBID:1555028

Which of the following is a one-word substitute for "safe to drink' ?
(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

AT §9 ¥ &1 9 A § S0 saigar 1 § 2
(1) 94

(2) =

(3) =M™

(4) =i

1[Option ID=19293]

2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]

Sl. No.9
QBID:1555029

Identify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under

(2) below

(3) above

(4) beneath

faffEa i s o € -
A AEIYTEOT
B. o=
C. feER

D. s
E. 9=id

H2 fau 71y fawed # & 9o SUgad ITR &1 994 B
(1) FETA.B. C
(2) ¥ B.C. D

(3) ¥ C.D. E
(4) FETA.D. E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]




Sl. No.10
QBID:15550210

Identify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknovmn person had left here these things

T[& 919 &1 9649 B |

(1) WF B B gEE |

(2) 1T &l TS Sl S

(3) We IHE B I S o |

(4) B F ULS GG o |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11
QBID:15550211

Amid economy crisis and political turmeoil in Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

Jicient ¥ anide Have ud Aeide Riifd & sl dicie! o1 a1 UL (68 Fyed [oarm g 2

) Ffiare RRE

(@) i fapafiy

(3) AfgzIouE

(4) TICTETaT IASTIE)

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
QBID:15550212

Who has become the First female to took the office of President of Tanzania and the third woman head of the government of country
East African Community ?

(1) Samia Suluhu Hassan

(2) Agathe Uwilingiyimana

(3) Sylvie Kinigi

(4) Sahle-work-Zewde

T & PO &1 Ug YR T50 S aTell S AR Sk gdf snpiel SHerg | o% #1 WeR WiE a9 ardl died afea #1994 2

(1) e YOg g5
(2) ammre Sfafdfafammr
(3) Taed f&hrh

(4) Tgo-ad vag
1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]

Sl. No.13
QBID:15550213

India held the first spot in the International Shooting Sport Federation World Cup 2022 which was bemg held in .

(1) India
(2) China




(3) UAE.
(4) Egypt

EeXATH YT TWIE BT dts $Y 2022 T YR & WA RF U 51, o1 smaies . Hgsn:
(1) HRd

(2 =HF

3) gUs.

4 foy

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.14
QBID:15550214

Who has won the Men's Single Title at 79th Edition of the Italian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Nowak Djokovic

(3) Rafael Nadal

(4) Roger Federer

A9 H i Serfems ofive & 798 S50 # 0oy & & UHd (Eare S e o 7
(1) e R

(2) & d@ihs

(3) =TT

(4) TR e

1[Option ID=19221]

2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]

Sl. No.15
QBID:15550215

What is the current year estimation of the GDP growth according to the Nirmala Sitharaman in the Union Budget 2022-23 ?
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

fofen Siarmr ERT wRgE S0 e 2022-23 F TR 9 99 S Sed ofE F1 A fHaa g 2
(1) 9.5%

(2) 9.9%

3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
QBID:15550216

All the mtellectuals are very emotional, because :
A. They are thinking beings

B. They are logical bemgs

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :




(1) A.D Ouly
(2) B. C Only
3) C.E Ounly
(4) D. E Only

| gigeildl 9ga WIgs B & wife

A. 9 T Tt ui F |
B. g arfée umft € |
C. 3 Tiftri ooft &
D. 3 eEfAEF |

E.39ma o7
A fau Ty feedl # § 989 Suge ST &1 994 SN
(1) FWTA. D
(2) ¥ B, C
(3) HWAC.E
(4) 5@ D, E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]

Sl. No.17
QBID:15550217

Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player "XYZ' have hatred for other team-mates
D. Player 'XYZ' shows jealousy

E. Player "XYZ' shows patience

Choose the correct answer from the options given below :
(1) A.B, C only

(2) A and C only

(3) B.C.D only

(4) A.B.E only

Feam F Eansdl & {1y waia faeeg gHy |

A. fEEE 'XYZ' & viE veltfa s g

B. @& 'XYZ' & §0-yuEa g |

C. faerst 'XYZ' & o0 dn-uewi S ufa gon & |
D. fEenEl 'XYZ' we veifd #Xar & |

E. Gas ' XyZ M ekRia s 2

IR feu o el & § 999 SUgE 9T &1 999 S
(1) A, B, C
(2) FaAA SR C
(3) #@@ B, C.D
(4) BT A, B. E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.18
QBID:15550218




A person can learn Sanskrit without a teacher :

A. It is not possible learning Sanskrit without a teacher; as it is a technical subject.
B. It is possible to learn Sanskrit as it is non-technical subject.

C. Anyone can learn it; as it is just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B. C and D only

(3) A.B and E only

(4) A and D only

w5 afe i st sros & Sed S wear &

A. 571 srmgs & Hegpa dean grE = € wifs 9% Ue aediet feg g
B. Ut Fhd dra-1 9BE § #ile U5 UF IR-as-die! Geg § |

C. 38 3is i ¥rg wear & 94ifE U5 Ho0 U UM 2 |

D. U 530 erus #1 v 1 2w anar & mram 9 il e wsdi g
E. 7% o<l v o= ol fe s s fmwa g

i fau e fawedi # § 9e9 Jugs 9T %1 994 S0
(1) S50 A FRE

(2) FB, C IRD

(3) FWAA. B IRE

(4) FFAAIRD

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

Sl. No.19
QBID:15550219

Give below are two statements :
Statement I : Pollution level in Delhi may be reduced by reducing the factories.
Statement II : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

H &1 B fgw g &
HYF | ; el & Ugun o1 ¥R $REH U © 91EE § 9ol o 95 E |
FYA] | ; OR FREH @i-Ugu 309 9 & X @Rl & U aes

TURIGd HUE & oS H, i 37 70 el # 9 999 Suged Il &1 99 Sig:
(1) T FR I =1 8

(2) sy 1 3R 11 1 a0 &

(3) Ty 9El & A7 sy 11 o &

(4) FYT1 700 & AT FuT I 981 2




1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.20
QBID:15550220

Give below are two statements :
Statement I : Education is important for both male and female.
Statement II : Government must encourage co-education. as it is required for country's development.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are mcorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

e wra R &
FUA | ; goul SR afgenedt, S % Ry fren Aecanf £ |
FUT ] | : PR 51 To-W81 $1 W= &1 9oy e T 0 & fiem & fiw s & |

IulE HYF & R H, A (30 0 Bl # 9 999 Sugsd I &1 999 S
(1) =] AR SH 581 2

(2) FYA] R I F1 e &

(3) wu= 1 981 & @it &= 11 7o &

(4) FyF [ Toa ©, AT FuE 11 96 R

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

Sl. No.21
QBID:15550221

H . 1 then the valueof |, 1 is
X

x‘+—:=2 =
x x
(1) =2
(2) =8
3) =1
4) =4
afe 1 r 1 19 ER -
x+—==2 =
X X
(1) =2
(2) =8
3) =1
(4) =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
QBID:15550222

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:0.

Reason R : If the surface areas of two cubes are in the ratio S} : §. then their volumes are in the ratio §2* - §3°

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A

(2)




Both A and R are true but R is not the correct explanation of A
(3) Aistrue but R is false
(4) Ais false but R is true

1 31 B [T U & U SHUBYUA (Assertion A) & &Y T (R g Al GIRT 3D BRUI (Reason R) & ¥ H:

YT A Tfe & 5 F I BT S 3:27 8 T 35 g AFHE B ST 4:9 T

BRUIR : A 1 91 & FIE &ABE BT S S; : 5, © ol 379 TG BT AT 52 - 528 BN

SRIFd BYF D 3P |, A1 iU 7 fawedi & T T61 IR &1 994 Difo |
(1) ARREA TS IRR,ADI T ORSAT &

@) A RR I TAE AP R A P IS AR TR B

() ATGE U@R 39A®

(4) AU EUPIRTT S

1[Option ID=19257]

2[Option ID=19258]

3[Option ID=19259]
4[Option ID=19260]

Sl. No.23
QBID:15550223

If the high and base radius of a cone are increased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) 8:27
(2) 75:32
(3) 32:75
(4) 27:8
fe fordl <igp @1 318 SR SMYR el Bl HHTE: 50% R 25% g1 431 & dl R 2P SR 94 W & 31a- @1 SiTd g7l -
(1) 8:27
(2) 75:
(3) 32:
(4) 27:

] T
ho2

[=a]

1[Option ID=19261]
2[Option ID=19262]
3[Option ID=19263]
4[Option ID=19264]

Sl. No.24
QBID:15550224

The probability of selecting a vowel from the word TRIANGLE is -

1)
(2)
(3)

(4)

T3 TRIANGLE # ¥ 05 TR g &1 Wiaiedl & gril-

1)
(2)
(3)

(4)

Collh Gl s G0l = |k e @01 W GOl 1= ] k2

1[Option ID=19265]
2[Option ID=19266]




3[Option ID=19267]
4[Option ID=19268]

Sl. No.25
QBID:15550225

If one root of quadratic equation .2 3y 4 (2% +1) = 0 is five times the other then the value of k is
3

1) —
16

(2) -

(3) -

G0l W ;lw

3
4) -
8
ST G 9,2 3y ¢ 9k 1) =0 P1 U H GO 1 914 1 & T ke BT A 181 2
3
1 =
16
(2 -

3) -

ool W ;lw

3
4) -
8

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]

Sl. No.26
QBID:90914241

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

arjp\ov

-2V )2 (2P
Consider the relation ', —C, = "rl ] [ l?'

AssertionA: C ', can never be less than C,.

Y2l A1 2
Reason R : [%L 18 always negative for all known substances and the value of [d—i] 7 18 positive.
¢

at

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 18 not the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

€ S vf-[i)i"]z E]Tasmu?ﬁﬁﬁﬁﬁm

arlelay

sfmy-a: o, Pl o, PR TR G BT ®

PRULR : T2 310 el & fom [%]Tﬂﬂmsﬂfmwa‘aﬂ [3_”;2 1A THL YD ol o

IR B & AED 1. -id S0 70 fGwed § 1 Iet SRk &1 994 Siforg
(1) ASRRIFTAE ARR, AP T TR &
() A SRR M T T, b R, A 1 96T AR el §




(3) ATIE AfPTR 3T ®
(4) ATde. APTRIT

1[Option ID=21701]
2[Option ID=21702]
3[Option ID=21703]
4[Option ID=21704]

Sl. No.27
QBID:90914242

Match List I with List IT

LISTI
(Irreversible
Thermodynamic process)

LISTII
(Entropy change)

Adiabatic dissipation
A |of work into internal I |C, In—=
energy of the system i

Free expansion of an L 2R In VL

ideal gas ;

Transfer of heat
through a medium
from hotter to cooler
reservoir

Driffusion of two

D |dissimilar inert ideal v |0
gas

V.
m. | nRin L
V.

]

Choose the correct answer from the options given below :
(1) A-I. B-III. C-IV. D-II
(2) A-IL B-IL. C-IIL. D-IV
(3) A-I, B-IL C-IL D-IV
(4) A-1.B-III, C-IL. D-IV

Yal-1 & Q1Y Yi-11 &7 e Sifere
T 1 Tt 11

B &b TG 7
A |omemdfFeEs | L [C, -k
ity S L

i V.
B. HEL2ECoR N W N
TR T,

!

T3S S Ve
C. ﬁﬁﬁﬂ?&'_\rﬁﬁﬂm . | wRkn j
ql 3gaH g g
D et feewor | TV [°
9 feu g faeedt & & el SR o1 =997 Pifog

(1) A-L B-III. C-IV. D-II
(2) AL B-I, CIII. D-IV
3) A-1 B-IL CIL D-IV
(4) A-1 B-III. C-II. D-IV
1[Option ID=21745]
2[Option ID=21746]

3[Option ID=21747]
4[Option ID=21748]

Sl. No.28
QBID:90914243




Given below are two statements : Electromagnetic wave boundary conditions are
Statement I : The tangential component of an E field is continuous across the mterface.
Statement IT : The tangential component of an H field is continuous across the interface where the surface current exist.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I 1s correct but Statement I is incorrect
(4) Statement I i1s incorrect but Statement II 1s correct

Ty T ¥ : fagyd grawia ao ot w3 2 §
HYAI : [P E &7 1 0 W& gew 9uuf SfeRigy W FRER @ g
BYFI : {5 1 & o1 el Xy vew Guuf s gy W PR g 2, 5 i Ias figga A g g

SRI HY & el B, -iid G Y [dhedl O 9§ T Iugdd 9tk &1 991 S|
(1) HYFI AR 1A TS §

(2) FHYF-1 3R 11 I Tad §

(3) HY-1 98! 8. A1 HYA-11 7Td &

(4) HYF1 7T &, Afp HUA-I Tt B

1[Option ID=21789]
2[Option ID=21790]
3[Option ID=21791]
4[Option ID=21792]

Sl. No.29
QBID:90914244

Given below are two statements : In single slit experiment if we replace red light with violet light.
Statement I : Diffraction bands will become narrower and crowd together.
Statement IT : No change will occur.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 1T is correct

T2 ST Py UL R ; U a1 o5 WA SR O 7 & UhTRT Bl ST 7 B IR R foar Sl &
®YA1: [a1ie Uzt U o HH1ul qur 99+ gl |Te|
FYF-II : Dl GRad- ol el

TR HY & 3aie 0, =i U U [dPhedi & I el Ik &1 99 DIt |
(1) FYAIMRIEAI TS

(2 HYA1 AR GH ST &

(3) Y1 TT 8, Al HYA-I HTT 8

(4) HYA-1 A §, Al HUF-I1 I

1[Option ID=21833]

2[Option ID=21834]

3[Option ID=21835]
4[Option ID=21836]

Sl. No.30
QBID:90914245




In the given P-V diagram. AB and CD are two isotherms at temperatures T, and T, respectively (T = T5) whereas AC and BD are two

reversible adiabats. In the given carnot cyele. which of the following statement is true.

P

9_9
L

-

1)

(2) entropy of the systems decreases
(3) entropy of the system increases

(4) work done by the system W =0, -0,

fGu e REAP-vH T, 9UT T, AIYEM (T, > T,) UR &I YHATU! ShHR: AB YT CD §. Sidldh AC GUIBD &l SchHauil Iei g1 feu Ty
FH 9% 0. Fefafed sy T e e Ty 99 22

P

9 _0

L

@ FemrreddsficEe

@) Hormd T AgiE e

@) For & grIFuRd s W=0,-0,

1)

1[Option ID=21877]
2[Option ID=21878]
3[Option ID=21879]
4[Option ID=21880]

Sl. No.31
QBID:90914246

An electron has a de Broglie wavelength of 2 » 10719 m and restmass energy e, =511 k eV. The kinetic energy of electron is-

(1) 803 keV
(2) 292keV
(3) 5l1keV
(4) 622keV

fopeit gaiae @1 o smelt avireed 2 « 10710 m YT faRTH So0HH el e, = 511 keV § 01 30 @1 Tfd ol & -
(1) 803 keV
(2) 202 keV
(3) 511keV
(4) 622 keV

1[Option ID=21921]
2[Option ID=21922]
3[Option ID=21923]
4[Option ID=21924]

Sl. No.32
QBID:90914247




Match List T with List IT

LISTI LISTII

Elastic scattering
from molecular

A |Rayleigh scatteraing I: pz_uncles \_\'hose
diameter is larger
than the wavelength
of incident light

B. |Raman scattering II. kY to_Me\- S

= scattering
C. |Compton scattering II. |Elastic Scattering
D |Mie scattering IV, |eV range scattering

Choose the correct answer from the options given below :
(1) A-IIL B-1, C-IL. D-IV
(2) A-IIL B-1IV, C-II,. D-I
(3) A-1 B-IL C-III. D-IV
(4) A-I, B-III. C-IV, DI

eI & 1Y FHI-11 DT A DIy

T 1 T 11
3MUa® Hull
TR W10l
A [WuBvH 1L |So® | Sus
ATT BT T
HEIFHE |
eV U MeV HHT
B. [T uag I Srof
C. |@paumn L. |UearydT Ui
D |orE gsivA v |ev dmrusive

i fU U fasedl © O Tl 3R &1 99+ B
(1) AL B-I, C_IL. D-IV

(2) A-IIL B-1V, C-II, D-1

(3) A-L B-IL C-III, D-IV

(4) A-L B-IIL C-IV. D-II

1[Option ID=21965]

2[Option ID=21966]

3[Option ID=21967]
4[Option ID=21968]

Sl. No.33
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Following diagram represents the reversible process of a hydrostatic system on a TS diagram.

d

C

L

Find the correct order of the process.

S

(1) a:Isothermal: b : Isobor: ¢ : Isochor: d : Isentrope
(2) a:Isothermal; b : Isochor:c : Isobor: d : Isentrope
(3) a:Isentrope: b : Isobor: ¢ : Isochor: d : Isothermal

(4) a:Isentrope: b : Isochor: ¢ : Isobor: d : Isothermal




feu T o ¥ so@ifds & ISaeauiia UsHd 1 U TS W SRAT a8

d

Ui BT TS HAT

(1) a: AL b : SHER: ¢ : SR d : FHUIY
(2) a: GHAME: b STSHBR: ¢ : SSHER: d : grgq%jq

(3) a: FHUZID: b : SATHER: ¢ : SFHBR: d : FHATU

(4) a: AU, b: HSHDR: ¢ : HHER: d : HA!

1[Option ID=21993]
2[Option ID=21994]
3[Option ID=21995]
4[Option ID=21996]

Sl. No.34
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A carnot engine operates with a source at 500 K and sink at 375 K. If the engine takes 600 k cal of heat in one cycle, the heat rejected to
the sink per cycle is

(1) 250 kcal

(2) 350 kecal

(3) 450 keal

(4) 550k cal

TP BFIC 39 DI 500 K P Hd 77 375 K & R I Faferd a1 Id1 8 | 3R 59 DI U 95b G B H 600 k cal I DI
JTaRgEdl gidl 8, 1 [ § ufd 99 31 &1 s g

(1) 250 kcal
(2) 350 kcal
(3) 450 kcal
(4) 550 kcal

1[Option ID=21997]
2[Option ID=21998]
3[Option ID=21999]
4[Option ID=22000]

Sl. No.35
QBID:909142410

The relationship between the current gain of a common emitter transistor (B) and current gain of common base transistor () is given as

1 f=—2
l-ax
B
u)a—l_ﬁ
(3) f=a(l-a)
@) a=f(1-p)
YT Il SiforeR (B) B URT Afed TUT JHM YR TOReR (o) DT 4RI afel] & dig dau g
- o
W A=1—7
u)azf%
3) f=a(l-a)
@ =4 (1-p)

1[Option ID=21705]
2[Option ID=21706]




3[Option ID=21707]
4[Option ID=21708]

Sl. No.36
QBID:909142411

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Thermal energy produces more electron hole pairs in germanium as compared to the silicon.

Reason R : In a germanium atom the valence band i1s much closer to the conduction band in comparison to the valence and conduction
band position for the silicon atom.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A 1is correct but R 1s not correct
(4) A isnot correct but R 1s correct

2 9 Py QU T € TP DY (Assertion-A) B T4 T AEd 8 01 THRI IUP BRI (Reason-R) I &Y H

SHfUPYT A : I ol (e @1 ga1 J FHi=ag & i saac 8% 70 309 FRdl ol

FRUTR : FHIHTH A0 H, R 1A & Jaedl 85 aul 916 4 & 4 31 ga1 3 Saieied 8w, 90 85 &
¥ Fave B Bl

SRI HY & el B, g B Y [qshedl o 4 T Iugad 97k &1 98- Siforu|

(1) ASRREH TAE SRR, ADI TG O &

(2) A RREH TEIE, AP-R A DI U O I8! ©

(3) AGEIE. APTR WG TIE

4) AYEI IS, AP TR T8

1[Option ID=21709]
2[Option ID=21710]
3[Option ID=21711]
4[Option ID=21712]

Sl. No.37
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A thermodynamie system is maintained at constant temperature and pressure. In thermodynamic equilibrium, its
(1) Enthalpy is maximum

(2) Helmholtz free energy is minimum

(3) Internal energy is zero

(4) Gibbs free energy is minimum
fgd 919 U6 I1E R IHFIGS gl &1 Iedl & | SIS 9 | 59T
) TR HfUHTH giar g

(2) @HIeS Had Foll GAa9 §

(3) 3aR® FHoll Y 8

@) f7es g ol gad §

1[Option ID=21713]
2[Option ID=21714]
3[Option ID=21715]
4[Option ID=21716]

Sl. No.38
QBID:909142413

The poynting vector of an electromagnetic wave represents.
(1) Radiation pressure

(2) Radiation temperature

(3) Energy flux

(4) Direction of the magnetic field




faregd graata o ol Wi wfem Fefid sxa g
(1) PR TE

(2) fagHRUIAMY

(3) FHoll Fad

(4) JrEPY & F1 famm

1[Option ID=21717]
2[Option ID=21718]
3[Option ID=21719]
4[Option ID=21720]
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A system consists of N number of particles, N >>1. Each particle can have only one of the two energies E; or E; + € (€ > 0). If the system
is in equilibrium at a temperature T. the average number of particles with energy E; is -

(1) N2

(2) NjeEKT+)

(3) N KT+

4) N/ Q—E KT

U (o § Sl &1 G-I N, (N>>1) T | Y BV b URH &l § U el E, ATE, + € (€ > 0). 1 GPbdl ¢ | 3R T A4 W FHprg
I BT TR T §. A1 3ol B, & 91y SHd SNl i Sl giil

(1) N2

(2) N/eSKTH

(3) N/ KT

(4) N/EKT

1[Option ID=21721]
2[Option ID=21722]
3[Option ID=21723]
4[Option ID=21724]

Sl. No.40
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The electric field inside a uniformly charged solid sphere with charge density p can be given by
1
dr e,
1
dr e,
1
dr e,

1 g
ire, SB°

U GO 1A% d 1% 9 p dldl 314 Tidl & SR [dgqd &3 &1 314 J [hud oudd a1 ol 9adl §

. 1 Q0
()4?763 3

i3
1 g
(Z)E}j
g
i3

A
TiL

|12

1)

"

A
»

(2)

= =

(3)

o Pﬁ’,| o Lo

A
7

(4)

1

(3)

(4) -

1[Option ID=21725]
2[Option ID=21726]
3[Option ID=21727]
4[Option ID=21728]

Sl. No.41
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The moment of inertia of a thin rod, of length / and mass m. about its center of mass is -

(1)




ml?
12
mi>

(2) —
4

(3) mi?
mi>

(4) —
8

U G B8 [orgd! TaTs [ 9U ST m 5. 39 I & S 4 3951 I5d@ 30 &

ml?
12
ml?

(2) —
4

(3) mi?
””,2

(4) —
8

1)

1[Option ID=21729]
2[Option ID=21730]
3[Option ID=21731]
4[Option ID=21732]

Sl. No.42
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The acceleration of mass m; and m, for the system in the given figure is -

e

m, sinf—

1) ———&
Hi‘l f Hfz
m sin i+ n,
2 ———8
my +m,

m, s — iy

B) ———&
my — iy
m, sin i+ m,
@a4) ——
m, — i,

U T o I So0fM m,; AUTm, & 9% BT @RI g :

1)




m, simf— 1y

¥

my iy
m sin i+ m,
2 ———8
my +my

m, s — 1y

@) ————&
) — iy

m, sin i+ iy

(4)
i —nty

1[Option ID=21733]
2[Option ID=21734]
3[Option ID=21735]
4[Option ID=21736]

Sl. No.43
QBID:909142418

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : In a 1-D elastic collision. the relative veloeity of two particles after a collision is the negative of the relative velocity before
the collision.

Reason R : Energy and momentum is conserved in the elastic collision.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R is not correct
(4) A isnot correct but R is correct

2 31 U QT T & TP HUBYT (Assertion-A) T ¥4 T [AEd 8 Ol THRI IUP BRI (Reason-R) I &Y H

aﬁlgiuﬂmwl—[) TR Th H I DUl & Tdh &b d14 DI SATUIED 97T Tdh & Ugdl & 3HTUfarD o7 oI Je-T H BUTHD
BT |

PRUTR : TR TG T FHoil aul Ga7 SEd g g |

TR FYA & A 5, 4 R U et & I 98t SR &1 9949 oIy
(1) ARRII AR AR R AT T AT

) A SRR TEE APTR AT T R A R

(3) ATTE. APTR 3T

(4) AR AFTRIT S

1[Option ID=21737]
2[Option ID=21738]
3[Option ID=21739]
4[Option ID=21740]

Sl. No.44
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A mass M moves with velocity v along the x-direction. It breaks up into two pieces that moves at angle 8; and 8, with respect to the
original v direction of m. The magnitude of momentum of the piece moved at the angle 8, is given as -
mvsinf,
1) —
sin(6) +6, ]
mv sin
) —
sin (6, +6, |
my cost,
) o
s (Ut + U2 J
(4)




nn-‘cusf)l

sin (6, +6, |

TS GoddH M o1 a1 v §. x-318 & 1Y FI7dl © | 78 31 @i & fayed Siax O9 91 v a1 5099 m & JTde $I0T 6, duT e, I
Tl & | 39 S & FaT &1 Iios 51 SR ol $Ivl 6, § I ¢ |

mvsinf,

1) —————
:ﬂn{_ﬁ'E —H)'zJ

mvsinf,

@ (g, +6,)

mvcosﬁz
> sin(0) +6,)

mv cost,
9 ——
sin(#) + 6, J
1[Option ID=21741]
2[Option ID=21742]
3[Option ID=21743]
4[Option ID=21744]
Sl. No.45
QBID:909142420
A block of mass M slides on a friction less inclined plane which is driven so that it moves horizontally. the displacement of the plane at
time t being some known function x (t). Use D'Alembert's principle to find the aceceleration of the block. taking as generalized coordinate

the displacement, [ of the block down the plane. Note that the acceleration of the block is not down the plane.

— x (1)

(1) gsinf — ¥ cos
(2) gcosf—¥sinf
(3) gsinfl+ X cosf
(4) gcosf—xsinf

U ©S o] SomH m & U a¥UI(ed 99| 9de W (el o, Sl 59 a8 § Ja1ad © & I8 Qs B 3R SEER Al 8 | 3R
t TG TR 5 96 I [GRITTH Bl x (1) Bl l [Sqac R & WaN gR1 [0S (FS) P @0l J1d D1 o6 [ §S BT 9q8 o ¢ DI
IR R R fF e s e am I Td e

N

/

&

— X (1) 0

(1) gsinf— ¥ cos
(2) gcosf—isin#
(3) gsinfl+ X cosf
(4) gcosf—xsinf

1[Option ID=21749]




2[Option ID=21750]
3[Option ID=21751]
4[Option ID=21752]

Sl. No.46
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A body of rest mass m and energy E decays to two bodies P and Q. If several such decays takes place then the conservation of energy and
momentum requires that

(1) Pand Q will always carries the same momentum and energy.

(2) P and Q will come out with varying energy and momentum in successive decays.

(3) P and Q will always have the same energy but varying momentum.

(4) Pand Q will always have the same momentum but varying energy

U fis ot R G008 m @1 &oil E § @1 1 fiSI p iR Q # 318 &1 9l © | 14 Ul &5 Siuerd 81l 6 df GHoll UR&u ayl
T DI SATTFDA FSH-

(1) P 3R Q &I BT HaT YT Foil FHM I

(2) [HT 3T H P TUT Q BT HAT TUT il (o4 BT

(3) P 3R Q&I B FHoll FH a1 HaT firs I8

) P 3R Q I BT HaT THM TUT Foil fo7el BT

1[Option ID=21753]
2[Option ID=21754]
3[Option ID=21755]
4[Option ID=21756]

Sl. No.47
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5 ; —ds
The continuity equation V.J=—— leads us to the
ot
(1) conservation of fields
(2) conservation of current

(3) conservation of charge

(4) conservation of charge density

Tad TR v.s - =% o spR e e
I

(1) &5 P TR&f0T

(2) YRT DT II&T

(3) 39T DT &

(4) 31T ©U-cd DT TREU]

1[Option ID=21757]
2[Option ID=21758]
3[Option ID=21759]
4[Option ID=21760]
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Which of the following Maxwell's equations tells us that magnetic mono-poles cannot exist.

JL
(1) VXB—;IOJ'-FJH[}EGE
(2) V-B=0

: 1
(3) V’-I: —_—p
Sy
(4) \/x,‘;'_—ﬁ
ot

S0 U B 91 HRIdd GHIDHRUI I8 gadldl § 19 951 U 4d HISa o] ol 9bd]

Ik
1) VxB=pnJ 4, &, —
Ho! T 1y = EY
2) V-B=0
(3)




1

Vibi=—p
Sy
4) VxFE ——ﬁ
at

1[Option ID=21761]
2[Option ID=21762]
3[Option ID=21763]
4[Option ID=21764]

Sl. No.49
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The Poynting vector for mono chromatie plane waves propagation in the z direction can be given by -
(1) ce, E? cos? ( — m+6)2
(2) ceyE] cos? (fz — we—#6 )2

(3) ce,E, cos® (ke — wi+6)z

(4) ce, E, cos’ (ﬁ'cz - wr—b’)g

- femm ot 3iR Tafed v avffa woae w3 foe @ sfa g
(1) ce, E} cos’ {fz — w!+5)2

(2) ceyE] cos’ {fz — w!—é}g

(3) ceg, E, cos’ (k2 — w:—i—é}g

(4) ceyE, cos’ (Rz — w:—b':];

1[Option ID=21765]
2[Option ID=21766]
3[Option ID=21767]
4[Option ID=21768]

Sl. No.50
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The acceleration of the system in the fig. below would be given as -

K 14

?mhiiiiin ;

-Kx +m,g
Q) —————
m1+m2

Kx—m,g
2) ——
m .+ 5
Kx—m,g

@) ———

-Kx —m,g

@) —
m =1 5




TRt Ed e sTarum s
K my

i ,.

-Kx +m,g
a) ———————
m1+m2

Kx—m,g
(2) ——
m+m

Kx—m,g
3 ———

-Kx —m,g
@4 ———

1[Option ID=21769]
2[Option ID=21770]
3[Option ID=21771]
4[Option ID=21772]

Sl. No.51
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For a circular and parabolic orbit in an attractive — potential having the same angular momentum. the perthelion distance of the parabola
r

is a times the radius of the circle, where a would be-

(4)

JAPR 3R R BT & oy orae ! srpvor L amar & qur swe Sl 93 9HH 81 4t e SRR g6 9a & e $ a
O &1 il a T W &1 §IFTI-

(4)

1[Option ID=21773]
2[Option ID=21774]
3[Option ID=21775]
4[Option ID=21776]

Sl. No.52
QBID:909142427




A man standing near a railway track hears a train's whistle when the train is coming directly towards him and then when it is going
directly away from him. The two observed frequencies are 250 Hz and 200 Hz. What is the speed of the train. Assume the speed of sound
in the air to be 360 m/s.

(1) 30 m/sec

(2) 35 m/sec

(3) 40 m/sec

(4) 45 m/sec

0 @ Yokl & GHE TS @S] fad 31 3R 3Tl §U TUT g2 ol §U o &1 Tie! @1 SH1aTel Y1 81 &1 Sgfaai 250 Hz 7T 200
Hz P €1 2 &1 316 1d & afe g 7 foran o % ga1 & @ & 95d 360 mi/s § -

(1) 30 m/sec
(2) 35 m/sec
(3) 40 m/sec
(4) 45 m/sec
1[Option ID=21777]
2[Option ID=21778]

3[Option ID=21779]
4[Option ID=21780]

Sl. No.53
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The magnetic field at center of square loop carrying a steady current I will be given by-
(assuming the sides of the square to be 2 1)

ind
 Hol

r

, \E,u.o!
r

) \E,u.o!

2nr

foreft amfer afvgy foe sfvadf urT1 vaifed 8 @ 8. & $5 R 7 aTal 9a 14 &7 F1 T SN (Tel a9 & Sl 21 3).
1) M
mr
2) \E,u.[,f‘
mr

) \E,u.[,f‘

2nr

1[Option ID=21781]
2[Option ID=21782]
3[Option ID=21783]
4[Option ID=21784]

Sl. No.54
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Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The total energy of the particle is conserved.
Reason R : The forces acting on the particle are conserved.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R is not correct




(4) A isnot correct but R is correct
:ﬂaa}lwfﬁqwg:Qﬁ\3{?‘1@?}:{(AssertionA)%Wﬁm%ﬁme(RﬂsonR)$mﬁ:
P YT A : [ BUr B ot Sort WRfed S §

BRI R : 58 B0 R kg a7 Wfed Bl 2

TWRId BYT & 3aie H, 7= &Y 7MY fahed § 9 96l IR &1 99 DI :

(1) ASRRIF TAE IRR, AT T o=

(2) A3RRETAE. APTR AT TS AR TS ©

(3) ATTE. AR TR

4) AR AFTRITR

1[Option ID=21785]
2[Option ID=21786]
3[Option ID=21787]
4[Option ID=21788]
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For a liquid to vapour phase transition at Ty, which one of the following plots between molar heat capacity 'C;)' and 'T" is correct ?

1)

(2
Liquid | Vapour

%%
T T

o

Liquid *’“’/

3) | Vapour

Liquid

@) \\-‘apour

tr

U 500 ol AT & 1 FRufd F T, R T aRkaed= 1 0 3 @ 14 11 e Hier 91 €1Rd 'c,y a1 9Ha T & el Bl I

CEIGI RS
C

1)

ae

Liquid | Vapour

(2)




@) C,

Liquid (’/

1 Vapour

Liquid 1

(@) W\-‘apour

tr

1[Option ID=21793]
2[Option ID=21794]
3[Option ID=21795]
4[Option ID=21796]
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Estimate the moment of inertia of slab of mass M. length a and width b about a perpendicular axis passing through center.
1

1 — M(a2 3 bz)
2 \
2

(2) = M(a2 =+ bz)
5 \

1

(3) — M(a2 +b2)
12
2

4) — M(cz2 a2 bz)
3

YR M aTell U Yed! foroeh! TaTs a aUT 918Ts b © aU1 ol &% 4 §ieR 1o o, P araad 3l & arief T3 STl J1d Y -
1

1 — M(a2 3 bz)
2 \
2

(2) — M(.a2 7+ bz)
5 \

1

(3) — M(a2 +bz)
12
2

4) — M(cz2 a2 392)
3

1[Option ID=21797]

2[Option ID=21798]

3[Option ID=21799]
4[Option ID=21800]
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Two independent sound waves of equal amplitudes a and angular frequencies w; and w, are superimposed. then which one of the
tollowing is correct ?
(1) The resultant amplitudes is constant and 1s 2a.

(2) The resultant amplitudes varies with angular frequency W) +W, |

; : : 1
(3) The resultant amplitude varies with angular frequency E(wt + 1.1-‘.})

(4) The resultant amplitude varies with angular frequency [“'l + w?)

&l oA @ al ST a7 o Ul DIV ST w, Td w, &, B U G & SHUR RITUG DR (601 41 96 599 9 S I YU
SEEHIE
(1) RO 3maT AR S qUT /@1 A 24 B




@) gfeoredt aa Sl SgRT w, +w, & RS S
() RO ST, o SR L (o, 40, ) AR SR T

(ay RO ST, IO SR (v, +v,) & P EA 21

1[Option ID=21801]
2[Option ID=21802]
3[Option ID=21803]
4[Option ID=21804]
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During a parabolic path of a firework rocket. it explodes into two equal parts moving in different directions. In the absence of air drag,
which one of the following is correct.

(1) Kinetic energy of the center of mass remains constant.

(2) Center of mass of the fragments will have same 100 tential energy.

(3) Center of mass of the fragments world continue to follow the original parabolic path

(4) Center of mass will have a zig-zag path. after explosion.

TS TfTRIETel Ache 30 Waad! 9y & SRM [G¥ple i & 9 foxul T a¢ Sl @ SR e e faxn & o el 81 sa1 &
0 S SR & Sey 1§ 5910 9 o1 91 faded 981 5l -

(1) EHA &g B TIfae 6l @R & 31

(2) ES & g Pz B Fufae 3o §9H Bl B

(3) WS DI 5HHH Hd WRaadl 9y BT 4isT |

(4) f3Epic & 9YTd S g &1 Uy ST el g

1[Option ID=21805]
2[Option ID=21806]
3[Option ID=21807]
4[Option ID=21808]
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Considering the elliptical orbits of the planets around the sun, which one of the following quantities remain constant, as seen from the sun.

(1) Linear momentum
(2) Angular momentum

(3) Kinetic energy

(4) Total energy

& IRI 3R 78 & UTBR Dl & e H 570 Y D 9 uikmni 9 3 38 9 R RRIEAE 2
() g e

() HIofig FaT

(3) TIfeTS HaT

4) Fd Gl

1[Option ID=21809]

2[Option ID=21810]

3[Option ID=21811]
4[Option ID=21812]
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If a black body at temperature T is in equilibrium with surrounding at temperature 5. then the heat radiated by the black body E. per unit

area, per unit time will be, (here ¢ is Stephan's constant)

@ E=o(L'-T;})

@ E=o(T'+13)
@ E=o(l} -T5)
@ E=o(} +13)




afe TP Pt axg fordedT daIdaM T, 8. 39 SR & 198 T, & 9 Sriae] § § 79 Sl avgd a1 i SPls e, uid
SHTS 0T B E ST fafeur &1 7 817 - (Wl ¢ ©e RRIT )

m E=o(R' -7 )
@ E=o(h' +1)
@ E=o(l} -T;)
@ E=o(T} +13)
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The following LC circuit has initial current 7 flowing in it.

For this circuit, which one of the following is not correct.
(1) The charge oscillates back and forth between the plates of condenser
(2) The current oscillates back and forth in the coil

(3) The field oscillates back and forth between E‘ in the capacitor and B‘ in the coil

|
2avLC

(4) The angular frequency of oscillation W =

4% Lc gfthe & yRT i yaifigd g1 2w 81

o Hidbe (AR F g a8 &1 9w el @ -

(1) G HY-H WE P RIS GIe P8 |

(2) 1A PHseil H HF-US e Bl g

3) FF TYRAT f aUNGsc & f & 9 SIa- d=ar |

1
4) Wﬂﬂﬁﬁﬂﬂ&lﬁ% H'—m Bl g
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If the pressure is increased isothermally for water between 0 to 4°C, the process will cause.

(1) Heat emission
(2) Heat absorption

(3) Neither emission non absorption of heat

(4)




Negative heat transfer
afe 0 ¥ 4°C & &9 o R GHAU Ga1d S1d1 S Tl 54 Hichdl &1 giRumg i -
(1) i IgeH
() qrdig a9y
(3) MY BT = IS0l GHIT - Bf TS0
(4) BUMHD 14 DT FUid0l
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Photoelectric effect is generally observed in the range of electromagnetic spectrum
(1) Microwaves

(2) Ultraviolet and visible

(3) Infrared

(4) Radiowaves

U1 fiegd wHig it fayd gaeta of fog ter & @ oar g
(1) ATl

@) RET SR TRy

(3) 3faRad

4) s aat
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The results of Michelson - Morley experiment prosses -

(1) The speed of light in free space depends on relative motion of sources or observer

(2) Orbital speed of the earth around the sun is about 3x10% m/sec.
(3) The light has particle nature

(4) Absence of hypothetical medium ether.

HIEdHa-Hd WA &1 Uiy R $ears -

(1) 3fafver & v ot 1l a%q a1 wid & Ay e W Rk wxd g
() g4 & TR 3R gl D1 Hafg i T 3 < 10 WA B

(3) VBT B! UGcg Hula g

(4) URSIed ATy SR B UM |
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Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : In Fresnel class of diffraction. the shape of wave front on the diffracting object can not be rectangular.
Reason R : In Fresnel class of diffraction. the source is placed near the diffracting object.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R 1s not correct

(4) A isnot correct but R 1s correct




%ﬁmmm%:Qﬁaiﬁ-lﬁ?l:[(AsscrtionA)%Wﬁm%ﬁme(RﬁsonR)ﬁmﬁ:
HfUPUT A : It fdaa= 5, fdad= o | 98 T &1 HPR ATASR o 6l Tl |

HROIR : 70 [9aa 1. Fid o1 [daa- axg & 95 3@l ol ¢

SWRId HYF & el B, 1= U MU fahedl § 4 999 SUgdd IR DI 98- B :

(1) A SRR EH TE E AR R AT TE TR &

(2) A SRR AT E AFTR AT T R A 2
3) AT AFIR TS T &

4) AFEI TR AR TE1 ©
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In the Michelson interferometer experiment. if the source consists of all wave lengths lying between % and 4 + ¢4 . then no interference

pattern will be observed, if the mirror displacement d is —
(% is the mean wave length)
2
A
MW 2d<—
AL

AAd
2 2d<

;1'2
AL
22

3) 2d =

2

@ 242
ATsdd AdHUEY! W 8 afe |id & o . a1 A +dA & 99 & 3l /oedd Ai9g ©. 74 fod oR &1 Al de-
PR T8 8rm| Ifg siv P o= d gl al -
(S8l ). | aieed ©)

/12
1) 2d<—
AA
AA
/12
(3) 2d2%—f}

PY:

(2 2d <

2
4 2d Zﬂ—

(3
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A body is travelling at 0.9 ¢ speed. The body has relativistic contraction of —
(1) 9.99 %

(2) 99.99 %

(3) 43.6%

(4) 50.0%

U %] 0.0 ¢ 9101 4 90 <o ¢ | a%] ¥ WAl g grl -

(1) 9.99%

(2) 99.99 %

(3) 43.6 %




(4) 50.0%
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Frequency spread of a spectral line is —
(1) Independent of the coherence time

(2) Of the order of coherence time
(3) Of the order of inverse of the coherence time
(4) Of the order of square of the coherence time

feraft Tae e a1 BT IRERAT HAE Q-
(1) Hegd 997 ¥ WA

(2) Jagargqg & ha o

(3) Tl JHT & o H H

(4) TegaI¥9g P vt pa I
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In the Newton's ring experiment, the light consists of two closely spaced wavelengths ; and %, . If the lens is moved up by a distance d.

the interference pattern will be washed out, if

A2
d=—
@ (’1]_’12]
A=ty
(2) d= "
12
M
o=
a3y -4
42, -2
4) = 2=%)
Bt

I g9 WaNT 8, U1 &l Sq &3 o a1, td 4, g 9§81 afe du @l d i 3 fEe i s d1 venrcanfeer §
SfeRul UeH g afg -

A,
d=—"
@ (’1] _’]“2]
A=y
(2) d= "
L2
f_ Ady
@ ¢ aa-14)
@ d=4(;]—;2]
g Epyt
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
In Michelson Interferometer.

Assertion A : The highest order of the fringes lies atf the center of circular fringes.

Reason R : Michelson Interferometer fringes are fringes of equal inclination.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R 1s true

ﬁﬁmmm% ; Qﬁa{ﬁ-@ﬂ:{ (AssertiouA)%Wﬁ%ﬁaﬁ%?ﬁme(Rﬁson R)%Wﬁ:

Trsshd fadmRorardt o

SHTUFHYT A : Foor] BT 3=3 HH JAIPR o] & dg H (940 el o

SRR : A5 AfdHIUHAT] Seer] U Ul Feerd] & Sff G S0 I b1 &l B
SR B & elis B, 919w o e & 3 98 I &1 997 Fif -

(1) ASRRITTAE AR R AT T AT

@) AJRRIFTIE APTR AT T AT R
(3) ATTE. APTR IGT

(9) ASTAE. AFTRITT T
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&
Solution of the equation x— b =2y= X cos 4x is— (where ¢ is a constant)

dx
3 3
(1) y=x"smdx+cx
| 3
(2) }-':Z.\”‘S|n4x+c:r‘
3) y=.f2 sindx +cx’

4 }-':%.\’zsi114_r+u¥2

AR x L =2y = ¥ cosdx — (el c TF RRIF ) FTEAL -

dhe
¥ 3
(1) y=x"sindx+cx
| T 2
(2) }-':Z.Y“S|n4x+u¥‘
3) y=_f2 sindx +cx’

4) }-':ix‘qsit14_r+c:¥2

1[Option ID=21861]
2[Option ID=21862]
3[Option ID=21863]
4[Option ID=21864]

Sl. No.72
QBID:909142447

b ; : . : y : : .
Let | [a) = Ia f{x, Q’) ey where { is continuous and differential. If @ and b are differentiable functions of o, then —

dl b u’/ db da
dx / —
W n’(}r J- cfcr ® f g a) da el a’] dex
dh y da
2) — alx e S : kel
) _l'(r = (b.a)— - fla.a)—
a’;" f dh
3) d_azj‘ h+f(h J'Jda




4 dl _ J-e'?df
dot

A 1 (e) =] ’j‘(.r, ) dx G £ TP A UG HADTE BT ¢ | TS a 3R b: o F SGHA-1T BT 8 off -

db
b,a)—
a do da

N RN
o & o
o St »;'z
o E L a0
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Given below are two statements :

Statement I : Even functions can have no sine terms in its Fourier expansion.

Statement IT : Odd functions can have no sine terms in its Fourier expansion.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement [ is false but Statement II is true

HYT 1 : PR (TR T TH B BT 1 (Sine) I8 51 61 G|

YT I1 : HRAU (R T favs e &1 <01 Ug gl 6l 9ol

IWRIFT BYA & P 1, AId [GU U [ddHedl & 9 Hgl IR &1 994 I -
(1) HYFIAR IS Id 8

(2) BYF1 3R 13T 3T &

(3) YT TA . Al HY I T &

(4) HYTI TS, AP PUT I IT &
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In the following circuit, R =10 Q. L = 2 lenries and a battery of 40 ¥ are connected in series. At 7 = 0, switch is closed. what will be
current for t > 0 ?

R=10Q

L =2 lenries

/®

40V
) ,-'—12(]—;3 & )

o I=[1—e_‘t)

Gy I :4[] —c_St)

@ =10




T R gy H R =10 Q. L =2 A1 GUT 40 ' HI TP a1 U0 T G351 81 ¢ = 0 TR W 95 & G0 AT § Al ¢ > 0 TR 4RI 41 SRt

R=10Q

Y

40V
OOV :l2(]—u“5t)

(2) I=[l—e_5t)
Wi :4(]—:3‘““)
(4) =10
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Match List T with List IT

LISTI LISTII

Displacement 2 .
A lEtement (an) | = |77 SN0 dp db d¢
Area

B. |Element I|sinOdddg
(do)

Volume

& %ﬂﬂ;ﬂf L| é,. dr+réy db +rsind é, dg
r

Solidangle | | r” sin 0, dO d +rsin6é,
D. Element v

(dQ) dr dg+ré dr dg

Choose the correct answer from the options given below :
(1) A-IV, B-III, C-I, D-II
(2) A-I, B-IV, C-III, D-II
(3) A-IIL B-IV. C-I. DI
(4) A-IL B-IL. C-IIL. D-IV




= 1% 1Y G 11 DT e Hifory -

T T 1
A aaa l(l dr; L |72 sin @ dp db d¢
B aaéifl (;'0) 1L | sin B db d¢
AT
e ?jl) UL ¢, dr +réy di +rsind ¢, dg
T
SHEW | |2 5in06, db dg + rsinBé
. [dd v $
(dQ) dr d¢ + ré¢ dr d¢

= feu U foeed! § T Uel STk @1 999 ST
(1) A-IV, B-III, C-I. D-1I

(2) A-L B-IV, C-III. D-1I

(3) A-IIL. B-IV, C-I. D-II

(4) A-II B-IL C-IL D-IV
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For a field F = f grad g satisfying the assumptions of divergence theorem with fand g as scalar functions; Green's second formula can be
written as

@ [[[rss a5 )av=([[ 15 -3 Jas
@ [[[e9 av=]( % 1 % as
o [[] e a=[[(r%-L]as
 [[[(r7e-avs) = ][ 1 E T |

87 F =TS g STl 3TN THT B A1 1 I8 1 € ST £ 3R ¢ &1 et war 8, 3 o ferla 7 ot feran o a8 -
w [[[(rvierevs)av=[]( 1B - s
3 § on

¥ 2 ¢ = 8_f_ E_g
©) ji_jg,v f U[gan ¥ an]dA

. 2Jr e @_,@i =
> j-’U}{V s d}_'l;‘l-['f on Lﬁn] B
@) jjj[ng V1) dv= ”[ i.; g%}“
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Let fand g be scalar functions, such that F=f grad g. The value of div F will be —

W V2 fg+grad f-grad g




@ fVig+gVif

(3) szg +grad [

@ fVlg+grad f-grad g

[3IR g 1 AR B § o6 F=f WAVl ¢ | 1§58 | 1AM I -
(1) szg +grad [-grad g

@ [Vig+gVif

(3) szg +grad [

(4) szg +grad f-grad g
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Which one of the following equation represents the irrotational character of gradiant fields —
(1) curl(grad f)=1

(2) div(grad f)=0

(3) curl(grad f)=0

(@) grad(curl f)=1

78 A D 91 GHIBR0T YauTdT 87 & ol faRivarsi & guidar g -

(1) &l (WA = 1
(2) fSd WA =0
(3) & (FGUIIS) = 0
(4) VEUdl (@ f) = 1
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For two scalars fand g: the value of div(fVg) is equal to :
W fVig+ gViy

@ fVlg+Vfx Vg

@ Vg - gV

@ V% +Vf Vg

&1 3HfeR felR g & T div(fVg) PTHARER T -

W fVig+ gV

@ fVig+Vyix Vg

@) fVig - gVif

4 fVg+Vf Vg
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The initial amount at time t =0, for any radioactive substance is 0.5 gram. The time rate of decay of substance y is proportional to ¥(z).
The amount of substance left after time t, will be —

@ y(f)=e™
—kt
e
(2) [|l=——-o
}( ) 0.5
@ y(1)=0.5¢™"
@ y(f)=e

et Sfeatetl ueref &1 9w = 0 IR SRS T 0.5 T B 1 O y & g 31 UHT &2 y(1) & FHMUN ¢ | 95T « b SuRid g &t
Y HEAT B0 -

@ y(t)=e™
—kt
€
2 y(t)=—
}( ) 0.5
@ y(1)=05¢e"
@ y(r)=e
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The solution of Laplace’s equation V2 f =0, where f(x, y,2z) = = with p > 0: will give—
(1) Gravitational force of attraction

(2) Columbian force of repulsion

(3) Strong nuclear force of attraction

(4) Weak nuclear force of repulsion

vzfzorﬁf{x:yrz]=%w F}OWEHB-:]’W-

(1) 3BT BT [HATHY §d

2) Uiy &l Hoid ad
(3) HHHI F] Holgd AN aa
(4) Yfaweur & FHAR TS Y §d
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The volume integral of the function f(r__ 0,0)= rz cosh overtheregion 0<r<=<2; 0=6<m/3, 0 <¢ < 2, correct to nearest integer
18 —

(1) 12

(2) 24

(3) 15

(4) 36

BT £(r. 0,) =2 cosd PI&FT 0<r<2; 0<6<n/3, 0<p<2n, P FHIY YT FHID G (Hpedd quiid) T -
(1) 12

(2) 24

(3) 15

(4) 36
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For a linear homogeneous second order ordinary differential equation.
L " S
¥ +P(x)y'+0(x)y=0
The point X, is singularity if —

(1) P(x) or O(x) diverges there

(2) P(x) or O(x) diverges there but ( X =X ) Px and ( Xy )2 O ( x) remain finite

|
(3) P(x) diverges faster than

I

(4) O(x) diverges faster than 3

(x_xo]_
faeia o & Ydig 9l SR siada SR
Y +P(x)y +0(x)y=0
o fafermar fag x, §RI 3R -
(1) P(x) T O(x) d8! STHIR S|

(2 P(x)T1 Q) TET STEIRG SR A (x —x, ) Px A (I_xo)z O (x) i g

(3) P(x): [ ] ol qa1 E doil 9 o g

X—IG

|
() O(x): T 3 I o H dell F 3o g

(¥=x)
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The meromerphic function (

z—1 ) ( z+3
(1) one pole
(2) two poles
(3) three poles

(4) four poles

3T B BT & gl
(1) UP &d
(2) aryd
@) diya
(4) dIXHYd
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Given below are two statements :
Statement I : Stokes theorem is the analog of Gauss theorem.
Statement II : Stokes theorem relaters a surface integral of a derivative of a function to the line integral of the function, with the path of

the integration being the perimeter bounding the surface.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement IT is correct

TR APy E.

YT : T Y. TM1E YHY & GHqed ¢ |

PYT 11 : TP THT, TP B $ dddd &1 IS Ide! HIH T & ol (54l Ba- & 3T ATHE ofl Idg & O & IRl AR TH

OB a-1g 94 94141 ¢, 4 Hafeid 8|
SR B & 3l H, -1 U T [dhedl # 4 Tad SUgH IR DI 98- BIoTU ;

(1) Y1 AR LT
(2) HYF1 AR 11 T &
(3) P19 2. Al Py 1 Tad §
(4) U 1716 . T BUT 11 981 &
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The Fourier transform of the function

=y A xl<0

X|=a

is

\/5005 Sa
a) (=
T S
\/;cos Sa
2 [=
2 8
)\/Esin Sa
2 8
\/Esin Sa
@ (=
Tz S

1 : 0
w0y 7 12

X\ =d

BT HRA TR S -

\/fcos Sa
) (=
Tr S
\/;cos Sa
2 =
2 S
\/;sin Sa
3 =
2 8

(4)




\/EsinSa
r S
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FP—3

(1 0
1

2 —
e

3 =
1
1

Fr—p 0

n
1)

(2)

0
1
e
@) e
1
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v 100
The value of limit [im [— is

G | [ljﬁ BIAAT -
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’ ¥ p—
The SIn (Z + I] is equal is

(4)

JE[ IJ_
(1) s e e |
4 e 2 e
\/5[ 1) 2 IJ.
(2) —| == |[+—| &e—= |7
4 e 2 e
\ﬁ( 1y 2 IJ,
3) —| == |[+—| &e+— |7
4 e 2 e
\E( 1\ 2 1].
@ —|e+— |+—| e——|i
4 e 2 €

\E[ 1\ V2
1) —|e+— |+—| e+—
4 e 2
\/5( 1Y 2
2 —|e—— |[+—| e——
4 e 2
\/‘5( 1\ 2
B) —|e——|[+—| e+—
4 e &




V2 1) 2 1)
—le+—|+—| e——|i
4 e 2 e
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A particle of mass M experience a force F(r)=m &% What will be x(z) for this particle. Consider the initial speed and position as zero

—bt

(1) ——+— ! +— l
bbb
=bt

(2)€_0_i+_1_
b b
—ht

@& __f_ 1
» b b
—ht

@t
b b b

U U [T So0HH M 8, §6 F(r) = m 2. 3FHd DRl g, U8 HFd gU o IR T1Td quT YT S 3, 39 U1 & (AU x(r) B
7 1 N -

—bt
(1)—2—+—r+i2
b b
bt
e t 1
(2) i B
b b b
—ht
@& __f_ L
» b b
~ht
(4)€_?+i_l
b b b
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The D’ Alembert’s principle can be stated in the equation form as (F7 is the applied force)
(1) Z("‘H p;)-0r,=0

) Z(Fﬁ—p‘;)ﬁr} =

@ (F-p)sr=0

@ (F+p)dr=0

fedae g SEiexu =0 ¥ s d4fid ¢ (Fi U9 W 89 ©)

(1) Z(‘,H—px) 53}:0

i
@ X(Fi-p;)-6r,=0
i
@ (F-p)dr=0
@ (F+p)sr=0
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1o0)

The value of will be equal to

dy
oo er’x}
1) j — dx
K
0"" .
(2) — j x e dx
T 2
it
3) — I x ™ dx
205
3 e.f'_\‘_l-‘
@4 — | —dx
g

dy
o0 e:’x}
1) j — dx
s X
i? g
(2) — j x e dx
£
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w)——.[xe“*dr
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The equation of straight line passing trough the points (-1, 3) and (4, -2)
(1) y-3=x

(2 yt3=1

(3) y+2x=3

4) 3y+tx=7

fdg (-1, 3) TUT (4. —2) ¥ oA aTdl IR @1 BT GHIHRT § -
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The pole of the straight line 9x + y — 28 = 0 with respect to the circle,
22 +2)2 —3x+5y—T=01is

1) (3.-1)

(2 (-1.3)

(3 (3.-2)

(4) (=2.3)

T 2x2 + 292 —3x+ 5y —7=0 P I TRA@I 0x +y—28=0PTYd 3 -
@) (3.-1)

(2 (-1.3)

(3 (3.-2)

(4) (-2.3)
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The eccentricity of the equilateral on rectangular hyperbola is

1
(1) —=
3
@ 3
1

3) —F—=

V2
@ 2
TP T1 AR Afduidad Sl Soadl ¢ -
1

1) —F—=
V3

@ 3
1

3) —F—=

D
@ 2
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The inverse of the matrix

¢ 1 1
M=(0 0 1]is
I o

Where I is the identity Matrix
(1) M-I

@ M*-1

(3) 1-M?

@ I-M




01 1
Mg M=[0 0 1| drgerase-

1 0 0
el 1 U doHd IS 6 -
1) M-I
(2 M?-1
(3) 1-M°
(@ I-M
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af . df(x,.!‘) 3 aﬁc)

Given a function f(x. 1) of both position x and time ¢, the value of =— (where f=— 2 x=—

ox dt dat
df

dx

ox
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(2)

(3)
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o
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(4) 3
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f4—2 -1 . -1 1 o 1 4 } St
It A= 4 3.0 "l AT ey then A(BC) will be




gfe A=[i _I} H=[_I _]4].(':[' j]]ﬁai‘uscyaﬂrrﬁam-
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2 2
Find the eigen values of the matrix [ 1 SJ

1) (3.4)
(2) (1.2)
3 (2.5)
4 (-1.2)
2 2
SICI [_1 5] DT HfHeTgores {1 B -
(1) (3.4)
(2) (1.2)
(3) (2.5)
(4) (-1.2)
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3 =2 2
The determinant of |1 2 —3| is
4 ] 2
(1) 35
(2) 3
3) 76
(4) 33
3 -2 2
il (1 2 -3| PTHEAS-
4 ] 2
(1) 35
(2) 3
(3) 76
(4) 33
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In the following expression estimate the value of x and

5 DCHHG)

I 7
1) x=—_yV=—
3 - 15
% 5
(2) x:_’}::_
33 26
-33 —-26
G X=—",Y=—
-3 -1
4 xX=— y=—
4 3
feu T8 &w® 1 x 3Ry &1 A Fyia a1 -
2 —1)(x 8 0
-+ —
-3 4)\y) ) (0
11 7
(1) X=—;y=—
15
2) x =— ’—_—5
*=33Y "%
-33 —-26
@) X=— V="
5
-3 -1
4 xX=—;y=—
3
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